oy e L @ g Gyef wibd
Ll S = A

- D6K-Gln

.l\

oAt isind sl iy £ EME B E s Dl B, C el L /J
ﬂifz‘f;fjjiﬁga(;ii/u;ﬁ?(ﬁguﬁ d,/ £ goTy éf A1 gfba,s_ff Z, s Ao b f JLLL b P 57 @Lz
E /j JW
Which ene of the following is not & derived unit ¢ £ wjiiww: beffeodl | 1
Watt Lt (D) Newfon ¢f< (C) Kilogramme ﬂ/ £ By Pascal (}’ 1053
The spinning mofion of & body ebout ifs axis is called ? § %@M L-H; sf L/C | b’f"’ Lfl 2
Vibratory motion ¢ (6 4 76 (B) Rofatory motion /4§ ,fu ’
Random motion 7 vk (D) Circular motior ¢/ ¥ ~(C)
Which one of the following is a vector quantity ?  fte ,‘gut Wefetdsls| 3
Speed 1N\(D) Mass UL(C)  Weight clis (B) Distance b6 (&)
The product of force and'd ;spiacement is called R 4.-5%{ /J’ Lot said | 4
‘ Work 7 (D) Rower »{(C) Momentum fv »(B) cceleration ué}‘fl
Racing Cars are made stable by. i ??f;;"f, , _Jdldvébahcjﬂ?‘phé; 5

Decreasing theirmass L/ {J L (B) Wfr rgasing their speed b2ty (A
Lowering their centre of gravity &/ 4/ T . < (D)” Qgc asing their width £/ ﬁéuz ©

In Einstein’'s mass energy equation, C is\the. : ;‘; /b gl C Uil G LSreefT
Speed of electron XG4 (B) : Speed of sound ‘Q'JA:T 0.y

Speed of light o’» (D) Spesd of earth i (©

The density of a substance can be found with tp hel of i -4—6" Ld,»?’u"-!d.iu’

Hooke's Law <5 (i f (B)) Pascal’s Law < u(uibL L)

Archimedes Principle L;yéd!’l["f A; ;I (D nnctple of ﬂoabatlon c.:ycfd;‘l[.é—; ©
Normal human body temperature is. .~/ - . .4—/{“/5’(’ BUL LS ok

98.6° g, (D) aF@)  7°c®  15°C W)

Metals are good conductors of heat dt{e 0. -4 | b i L P
Big size of their molecules bm.‘u’bb’)ﬂg ﬁwl ® Free electrons ¢} 22LLT (A)
Rapid vibrations of their atoms 2 /b;.’ ¢ (D) Small size of their molecules barbsZ 7 W):g bt (©)

4 341,:‘*‘:;: nirdUit ms e / J fc_z_xo' 36 km h* ALl
A train is moving at a speed of 36/Kr h \f}ts speed expmssed in ms\

‘fn\ 30 ms (D) 25ms” (C) 20 ms'1 ® 1oms' W

£ >
( .4—45’4, Js érLLf ‘f’ v ,/ l»( L pifuspx u’-é n{

Time taken by a communi Woﬁ%af\elfite to complete one revolution around the earth is.

24 Hours D) g 12 Hours (C) -6 Hours (B é‘! 4 Hours (A)
According o Archimedos, Gpthiustis equal to. _4,(31:44]/]6;}(1; dbLJril P
Weight of the liquid displaced & (isdl8ldtbd— s (A)
Volume of the liquid displaced /—rdbl.db Lbes (B)
Mass of the liquid displaced - LJLL&LL ks (C)

Density of the liquid displaced (" ﬁdbLbL 7 (D)
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Why & serew gauge Heasures more sccurately then vernier callipers?

Wiite the following quantities in stendard form. @ 6400km (i) 380,000%m L rA/fSQﬁ:éff s 7

.,*’;geé‘ j?l.; J‘)’gﬁ}.‘% sy

Define positive and negative acoeleration.

1 Can s body moving ata constant speed have acceleration % fﬁﬁkf{mﬁ,‘)’ LML/ S 7 a—fﬁy Lf
Why rolling friction is less than sliding friction? fed ;f{ e #P3% Uhf’:cf‘( Jofis
Define force and inertia. . -’é 7 (ﬁ;}wu}j

5 @ © Y Fre oo} s
B SA A A P

Ll“e’hai: is meant by co-efficient of ﬂsmgmn? Write its mathematical form é,gf’ LP Qb’f 1 Sl /ch-d/.’ szfﬁuﬁ( )

0.No.3: Write sho:{ answers to aMﬁve of the followings. 5x2=10 _é(; f R /9 lelé&:xuﬁds@m 3 /dfﬂ

S edplfe GAAL
s it LS A A IS 518 sl potstr SN
We do not fes! gravitational force of attraction between objects around us,why 7 .
Differentiate between Potential energy and Kinstic energy. ,ég 70 }uﬁdilu@éhﬂd/’tﬂ{
Define artificial satellites. .éug Y S l™
Write down principle of moments. « ,é4 i dr'lhf"? Y
1 unit of work is joule, define one joule work. £y AbSsz Shg-Jzeri Si ¢ s

What is meant by nuclear energy ?

Ahat is meant by geostationary orbit 7 telplf o (15 4 £
| Define magma. : _é_g/" é

ii
iv
v
vi
vii
viil

Q.No.4: Write short answers io any five of the followings. /f:x2=1@a&l£ F Linle St dits a4/ Jly

Define pressure and write its two units. LR
Define Elasticity and stress. -y J«ﬂ}wﬁ” Wi
What is meant by Young's Modulus 7 t e et k|
What is meant by Heat Capacity ? I & /L/g_u" lfaﬁi iv
Define Latent heat of Fusion and write its SI unit. o _ézj.w; SI /' lé...q }J.-.-.Md’ Jﬂhf v
Define Convection and Radiation. 2 YA d}umﬂ 1 vi
What is meant by Land breeze and Sea breeze ? te Vel ﬁ(3 J;fd/.@ vil
, What is the cause to remain a glider in the air X PR Ve s LinLl s | il

. \ . (Part 1) £ ' '
NOTE: Attempt any two questions fué this part.  9x2=18 ,égf auzL.-.mn, éf:.ui,lm W2

i _ , ies attached to the ends of a string that passes over a frictionless
pulley and obtain the formula of tepSion and acceleration.
L JFHE100 -0/ b SRR AL L 100 S L fMphitee B/ kel eint) L \B

A train starts from rest. It esthroughlkminlOOs,withunifoxmaccelmation.Whntwillbﬂuspeedat

i ]é,i:)w(fm?g[/ar]b/:_uJ&,—zrtzl» e | W5y

the end 0f 100 5. _
o o Elvedoidin t e tfAsEilIin Al | W6
Explain what is meant stable, unstable and;xeuualeqnilibﬁlnn?Giveoneanmpleineachcase.

5 .ér*’ »&J-,a{vq_ccy%.fdﬁhf 6m 21085 Gg 200kg 45! | (B)

iy

Calculate the pow of a pump which canbe MZMwmmmg;mﬂomein 10s.

Whatié evaporaﬁon?Onwhatﬁwmﬂxeevapomﬁonofliqtﬁddepends. ,
5/ e /f’..;ﬂl:Lnl&c.Jz}J 20N & 4110 o S LIS g 81 S A ®

Masqnmeofside 10mm.Findthepresmonitduetoaﬁmeof 20N.
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g C gk : o o NPt g &g, I 4 L
&1 unif of pressure s Paseal, which is equal to. bt etV ptr gk ﬁ%,gﬁﬁ Fir

1
TNm™ (D) 10* Nm™ (C) 10° Nm ™ (B) 10 N JA)

- Normal temperature of humesn body is. ey ,f &’K(fé’z 2
3r'c (o) 88.6 °C (©) 3a7T°F (B) 15°C (&)

in solids, heat is ransferred by : G- A r IS i | 3
Absorption ¢+.12t (D) Convection &7 (C) Conduction F'# (B) Redlation oS L (A

Least count of vernier callipers is: 9&5?&2?}4& | &
fem (R) imm (C) 0.016m (B)  0.01mm (&)

W g bl AL st SIS LSS | 5

The branch of Physics which study the internal structure of the e#rth is called.
Heat =iz (D)  Atomic Physics (/" )Jm (©) \ Light s (B) Geo Physics (/' J& (A
The rate of change of displacement of a body is called. ..u.tq./ LAl ot JSIL T4l
Deceleration W2 (D)  Acceleration (ﬂ-}’c (C)\ Velocity 8 (B) Speed pr4 0y
Which of the following is a vector quantity. A a ,*é,umf Fldsg| 7
Power | (D) Displacement L% (/3(C)  Distahce Jefi (B) Speed iy (A)

The unit of force is. e 8
Kilogram (lf ¥ (D)/ Joule Jz(C) Pascal L (B) Newton ¢J£(A)

Inertia depends upon. ‘ ' _4b'mbi Wi 9
' Velocity ('l 4 ) Mass (L(C) Netforce Juder ) Force U (A

The turning effect of a force is galled. RENSSL TS| 10
| Force s ().~ Pressure A4(C) Momentum ,‘y( r (B) Torque Jk(A)

The valuevof"g" on the Surface of moon is. -4.(31: . £0‘g” 45 6;@ 11
20 ms/ (D) 9.8ms” (C) 10 ms? (8) 1.62ms™ (A)

The energy stored/fn dam water is. -4.&x6)|.ﬁ.jsu-'- (s | 12
Potential energy dilﬂi (B) Electric energy § /41 (A
Thermal energy G 2 (D) Kinetic energy (5165 (C)
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.25 \Write shorl enswers (o &ny five of the following. ©2=10 WYy

. ﬁé‘f‘:(’f’ Fame G f"é&i L L J ch//u'i L

f; Veur helr grow al the rete of 4 mim per cgy. Find their growth rate in nim ¢ L E i
Whei le meant by vernier constant 7 § gl plf et faul b

| Define mechsnles end heat. pé% /?{g.wti zzfuﬁf} ift \
K Define the taﬁ’ns velocity and accelerafion. ,éd;{ /'5 éu?-{ ‘Ai@ g ] ™
Can a body moving at constant s seed have acceleration 7 ¢ Qtaﬁm;fi}’gﬁgﬁ(‘féfui’f Srek &V Y
Define uniform velocity and unift:& acceleration. ,é‘.& A A "¢ -Lw{éf fspslizd vi

When a gun is fired, it recolls. Why X ¢ UE,Q(}%% ) }(54 J k&kéﬁizuﬁﬁ vit
Differentiate between mass and we?g\\t ? 5&&}%65;;1&] L | vill
Q.No.3: Write short answers to any five'of the followings. _5x2=10 DL Lkt dils B AUy
Define centre of gravity. ,éq; &:{!f V4l
EQS A g fbat |
éuwmu"" 7| i
£ :rﬂlu,rf g’,uudiﬂ'c?idif v
¢ o et SsdS
KPS et ¥e i | i
Define power and write its unit. ' ,Zégi JJ!_UJMé._! A 6;4 vii
\ﬂ:uw can you find the 'eiﬁciency of a system ? $ d:’éf ()” 4( ..rhf.e &té,'f'/ (f viii
Q.No.4: Write short answers to any five of the followings. / 5;&:10 .é;/’ =% Vo leié&.’,&ds@» 44 Jir
t gl e ™ 8 i
XTI 445@!:)1-@ &0l | T
Eyslrndlz | i
Define Heat capacity and write its Si Unit also. Adles) U FEPE0A | W
Why Mercury is preferred as a thermometric gubstance ? ¢ 46 W8 7UL Iy J ey P 65, v

Differentiate between conduction and conyéction. ,éébdjul S5 ulu'“ M| v
Lf WPl f ¥ oLz | vii

$ ol G4 | Vil

Differentiate between like and uniike paralle!

State the principle of moments.

Why law of gravitation is important to us 7
/hat is Global positioning system ?
Jifferentiate between natural satellite and artificial satellte.

<

What is meant by elasticity ?
What is fourth state of matter 7 Define it.
State the principle of floatation.

Write two uses of non-conductors of he

What is meant by Radiation ?
(Part 1) g4 \(
NOTE: Attempt any two questiong’ from this part.  9x2=18 ,égi Q!Laﬂr»céf:.uf-/m vy
4 oSS Blipnibs ﬁ.{lﬂ:,uus.,xér}" LS H | W52y

Find out the relation for acce ration and tension of two bodies attached to thg ends of string
when one moves vertically a other moves horizontally

ofL T BIN4%" h) ).’,zocu+ﬁ;ﬂ{4gﬁi;brzﬂéi£2ms4kéd}db
A train slows down from 0 kmh™' with a uniform retardation of 2ms” .How long will it take to
attain a speed of 20 km ?

Define Torque and expiain it. ) 143 _é.ylmf’ lasl 'JJIf NP Jir
5 / (g=10ms>) ,é(}"dilf{{ém_q_kﬂwidﬂé am s~ gLyt s0 | @)
?

A body of mass is ralsed to a height of 3m. What is its potential ene =10 ms >)

dpfe0 | ®

1 EoslerrJ B sanlod LEF ¥ A6 x| W7 Ay

Derive an ex jon for thermal conductivity of a material and define thermal conductivity

5 L sr St a5 c1.ahn 088 F £AS MW @

Normal himan body temperature is 98.6 °F convert it into Celsius scale and Kelvin scale.
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